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Solve the equation.

Chapter 1 Review
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9) -4p=3p+28
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The formula for the perimeter of a rectangle is P =2w+2/. Solve the formula for the

width w. Pzlwd 2/
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The formula for the volume of a prism is V' = Bh.

a) Solve the formula for the height /.
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b) What is the height of a prism if the volume (V) of the prism is 120 cubic feet and the
base area (B) is 15 square feet?
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The sum of the measures of the interior angles of the triangle is
180°. Write and solve an equation to find the value of the
variable. Afterwards, find the measure of them missing angles.
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b) Solution: X~ 44
o
3x=_ 37° +20= 99



